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Full Marks: 40 Times; Two Hours

The figures in the margin indicate full marks.

Group - A
Answer any two questions of the following: 10x2=20

1. What is questionnaire? What are the precautions necessary in drafting a
good questionnaire? Define secondary data. 2+4+4=10

2. Describe briefly the method of constructing histogram and frequency
polygon. 5+5 =10

3. What is central tendency? Give two examples of central tendency. What are

the merits and demerits of the arithmetic mean? 2+2+6=10

4. Discuss the common mistakes of data tabulation. What are the precautions
you should take during data tabulation? 4+6=10
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Group - B

Answer any four questions of the following: 5x4=20
5. Discuss the advantages and disadvantages of median. 5
6. What are the characteristics of frequency distribution? 5
7. Define mode. State the graphical method of locating mode. 2+3=5
8. Distinguish between primary data and secondary data with examples. 5
9. Discuss the various methods of collecting primary data. 5
10. What are the advantages of mean calculation? 5

11. Write short notes on frequency polygon and frequency curve.  2.5+2.5=5

12. Shortly describe the construction of an Ogive. 5
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4+6=10
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